(AR AL

Q. B. Sl. No. e
ET-2019 484343 C
Jall Tickest |

;Enmgnature of
Number | " the Candidatci

Time : 2 Hours

Total Marks : 120
Before answering the questions, read carefully the instructions given on the OMR Sheet

BhoD eTmen FavbD Wnod OMR s ISans' ascnds Arsse eigm 3630d.

KNote :

SECTION—I : MATHEMATICS

1. The perimeter of the quadrilateral ABCD formed by A(-3, 1), B(0, 5), C(4, 8), D1, 4) taken in
that order is

A(-3, 1), B(0, 5), C(4, 8), D(1, 4) e 353 fgres* 26 Stasymin ABCD qog, SotpsTod

(1) 1642 (2) 25 (3) 20 @) 10

Which of the following combinations of sides and/or angles cannot form a right-angled
triangle?

a@aa-ansna.;sz-ﬂé' peined’ 50 dor Enived’ 50 von §'n 1Bgpind J6,630 Fudw

(1) 17,8, 15 (2) 1,2,45° (3) 42°,48°,5 (4) None

. In a trapezium ABCD AB | | CD, the diagonals AC and BD intersect at ‘P’ If AB: C
then area of ACPD: area of AAPE =

D=2:1,

ABCD 8528ah$é* AB | | CD Bat» AC, BD fguen. ‘P’ 38 9080 F3d. AB: CD =« 2: 1 sand
ACPD . AAPB % drorge 95,8,

(1 1:4 (2) 2:1 (@ 1:2 ) 411
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Q is a point on the line BD dividing the segment internally. AB, PQ and CD are drawn
perpendicular to BD. If AB= a, PQ= b and CD = ¢, then

BD 0 Se0p By podin e QBT wosdium Mfdoid Dothh AB, PQ DB CD e BD D sovor ADS 564
dpen AB = a, PQ = b ®8din CD = ceand

1 l+l‘—l 2 l-pl:l
() a b c 2) a c b
R A% | RS L
(3) a b ¢ (4) b ¢ a

An equilateral triangle ABC is such that the side BC is parallel to X-axis. Then the slopes of
its sides AB, BC, CA respectively are

AABC 30erduPhnsnd’ ghedn BC X-uginsh saredsiom £%8. sand AB, BC, CA dheive Sxf,
Treven I

(1) 3,0 -43 @ J3,43,43 3) 1,0,-1 4 43,043

The diagonals of a quadrilateral ABCD intersect at a point O such that ACO. DO = 50 . CC
Then the quadrilateral is definitely a

mcm;nmbummbsgmm AC. DO=BO. CO. udaﬁﬂﬁuﬂ‘ﬂégqmdo&?oﬂ Hdibd.hm 83238
¥4

(1} rhombus (2) parallelogram (3) trapezium (4)

rectangle
oronD Sdross SMdnmo 358

7 Sdxgo

A man is standing between two lamp posts on a horizontal line dividing the distance berween
them in the ratio 1: 2. The height of man is 2 m. It is noticed that shadow of the man with

respect to first lamp post just touches the foot of second lamp post. If the distance between
the posts is 30 m, find the height of the first post.

2 Bt D8 fio &8 Hid;d Bod B3 Fowine Inced fwP JpD 1:2 3386 ddoy dgom Jeadma.
MuMM&M&;@;M:ﬂM&:MMW o Sod ASSondve
S6erto 30 e sond M 83 Jowin J

(1) 6m (2) 5m 3) 4m 4 3m

A tangent is drawn from an external point P to a circle of 8 cm radius. If the length of the
tangent is 15 cm then the distance between the centre of the circle and pont Pis

8 D0.2, Trgingan fio 38008 P o ovry Dot o )6 Swven Aabedad. g Su e 15 2ol sand e
g0 M08 P o drgan

(1) 23 cm {2) 20 em {3) 17cm 4] Cannot be determined
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9.

10.

11.

13.

1,

AB is a chord of circle subtending an angle 90° at the center O of the circle. If the radius of
the circle 1s 6 cm, the area of the minor segment is

£€ 3F206'D AB ey ToiSin 38 3ot §%0 90°. & 3yg TA~gin 6 Ho.. v vey 8 pod ITegEn
105 _ . .
(1) ——em’ 2) 144 cm® (3) E—SE em’ (4) 7 cm?

Two concentric circles of radii 12 em and 5 cm are drawn. A chord of bigger circle becomes
a tangent of the smaller circle, Then the length of this chord is

12 20.2. Bafn 5 Do.2. Tognginenm EDAS Boch DY oS ygwen Sop. DBS" b 3o Ans) 1.8 & BodS
3JE0E H58n sond e ey 2dP

(1) 26cm (2) 17 em (3) 13cm (4) 7ecm

A square of side 7 cm encloses a circle touching all its four sides. Then the area enclosed
between the square and the circle is

7 20.2D. ghesdin o w8 SEGHHD @) Treol ghered voddium arhEr uf SFin Sek. e uﬂﬂﬁcdmﬁa
26,5 384 Do

(1) 21cm? (2) 15 cm? 137 (7 -n) cm? (4) 10.5cm?

The diameter of a sphere is equal to the height of the cone of equal volume. If rand R are the
radii of cone and sphere respectively, then r* = A= b

8 R gan Bty Jogde i S8drmdven Adrdtiv. Ff oo dopd JMID 3ArIdw. r, R e IHI™ Jopd
MH.HFW' r*= 2 g i _

W 2r o % @ 4 W e, s

T
A solid sphere of diameter 18 cm is melted and is recast into small identical cones of rlt.:jgh[
6 cm and radius of 6 cm. The number of cones formed is

18 hu.h;.avam ffovse6 podD S8R0 6 »o.2, Jé) 28din 6 Ro.b. H'iﬂig:h) fe dopHesm 2OY :EJ&
TopPo oy

(1) 24 (2) 32 (3) 12 (4) 18

From a wooden log of dimensions 6 cm, 8cm, 10 cm, a right circular cone and cylinder of
same base diameter 6 cm and equal height 7 cm are formed. The quantity of wood lost in
this process is

630.5., 8 Do.5., 10 Do, Fede fio a8 Faby offH0d 6 20,2, T30 1O 28 7 30.2., o g 1K
meww-*wwr@l o R30Arn0 L

1515
1) 226 cc (2) 250 cc (3) 175cc (4) 300 cc

o

=
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15.

16.

17.

18.

19.

sin 30°sec 60° + cos 30°cosec60° _
sec45°cot45°cosec45”

(1) 2 (2) 1

(3 V3 (4) J6

BC is a tower, B is its base. Ais a pointon a horizontal line passing through B, the angle of
elevation of C from A is 60°. From another point D on AB, the angle of elevation is found ta be
30°, then BD =

B 330 fo onin BC. B oz 24dh 473566 8 i A 0 Dodbip 0D C o g s §'nin 60°. AB 8
03¢5 08 1.8 Dothp D 008 C @ng) ded (F'asto 30° eow BD =

1 1

(1) 2AB (2) EAE (3) 3AB (4) EAE

i A, B and c are angles in a triangle then
A+B C B+C A C+A B

tan - — ==
( 2 }tanzuan[ 2 ]tanzﬂan[ > ]tsm2

ABC e o8 9ehaind'd Sored wand tﬂﬂ[ﬂgﬂ}tan%+tm(ﬂé{:]tanﬂ+tan(c+AJEan§=

(1) 0 2 1 (3) 2 4 3

The value of (1+cos x|(1 + cot® x)(1-cos x) =

(1) -1 2) 1 (3) cosx (4) sinx

J1+sinEI+J1-sinEl -

1-sin® V1+sin®
(1) 2sect

(2) secB+tan®d
(3) cosB-cotd (4) 2tan®

The length, breadth and height of a room

are 10 m, d 10 ivelv: Thi
?.ngl: of elevation of a top corner of roo IU'NE m an m respectively. The
s

m from any point on a diagonal of the base of the room

KB 5,

L8 Bndi, ey O HY IHIM 10 B, 1043 Do, 10 D, sond & 86" 620 205 D 50 Anden vod
23 K8 D g Y, S < Sty

(1) 4s°

(2) s&0*

(3) 3o* (4) None
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21. If cos* 0 -sin'p - =, then g -

cos' 0 -sin' 0 - ; eans () -

(1) 30° (2 60° (3) as° (4) None
22. A solution of 2cos® x-3cosy +1 = 0 is

2cos” X~ 3cos x +1=0 dlng s

(1) 45° (2) 60° (3) 30° (4) None

23. If a dice is thrown twice, then the number of sample events is
L8 DLDH Bods Ath & 8o bd‘)d:aﬁaﬁa-mmpa
H 6 (2) 12 (3) 24 (4) 36

24, A circular area is marked on a rectangular patch as a target for a certain game. A plaver is
declared winner if a ball thrown lands in the circular area. Then what is the winning

probability for a participant given that the dimensions of rectangle are 2 m and 3 m while
the radius of circle is 0-5 m?

36805 KbIoSod. BIS" BsEossin Feden 2 I, 8cin 3 hhirg DB S Tangiin 0.5 2. g3ao@sad
SLFoos’ 3o AdbedIs, of sbmd 0odd & HE156H oo’ IabNDAS ©82D Jdam B5dRG. sard «
anmnau-:sa

4]

11 11 11

(1) 2 3 B 179 o

@® |

28, From a well-shuffled pack of cards, the probability of drawing a red-coloured ace is

83 08 B¢ 508 ‘Hm“mmmmmmﬁi

1 ¥ 3
) 13 A3 36 4

b | =

(1)
S —

|
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26.

L

27.

28.

29.

I = .!- *‘! : 1 I. t, I i i -

one at random without looking inside the box. What is the probability that the second pen is
blue one?

L€ 206 42 Do Sofb HBatn 22 3¢ Bofd Dyew S0, &S D5 Moo Gofh DR £ Ac0 ). ol alrd,

3)5om &8 Doy Bt @8 Jen orh sandd. @R D5 RO &' Ardoae HBan 8 Dy dlrd)
Bygorm b & ik Deo Bofd ok Rogdyd

1 21
m 3 (2) ED)

3 33 (4)

(ATR S
cafen

Which of the following does not represent probability of an event?
ENLET ﬂﬁsud:&?ﬂﬁ' baw:aa:&: Ardedt.

(1) 0 2) 1 (3) 1-0001 (4) 0-99999

In a frequency table of interval size h, with usual notations, the relation between the actual

mean ¥ .assumed mean a and the mean of deviations, d is

Ao Ardfes’ 3856 sEodin 861D wodtin h DB vof Hgbin X, &e2rods At a BBain IR
[

DSuTren d o Sogolsin

2) E=d+ah
d (4) None

FR

The set defined by A = {n € N /(L+n?) <50}, where Nis the set of natural numbers, then the
mean value of elements of A is
muﬂuq:au;bm«BNb:.dA e 308D A=lne N/(l+n?)<50) ™ 280033838, mand A &'

RS Savee
08 S0 .ﬂﬁ;‘-’ viql ke
1) 1 2) 6 3) 4 (4) 35

T ization wants to find out the moest popular TV serial and

measure of central tendency is preferred for the data? conducts a survey. Which 3¢

eE 303 T.V.08" 335 BBah )6 erm @2vines 220803 M8abE Joddedbsh Tdb3tnon fois Deus

(1} Mean J&|/ Mode (3} Median (4) None
!ﬂ!aﬂé‘m paroddin :ﬂﬁl"ﬂ: 28 sy
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3.

For the data 6,2/ 9 11,3, 4,9, 213

; 1, which of the following is true?
3 EEmoTiD Dol & 208 i st I8 Dy

(1} Median < Mean < Mode

D&srdo < Hﬂﬁﬁ:ﬁamq < BIuS<ay |
(3) Mean = Median < Mode

©os Do = Do < gty

(2) Mode < Mean < Median
STV < wof i8I0 < D36, 1o

(4] Mode = Median < Mean

rrodsSy = :bd;ﬁﬂ-uf u-us‘ﬁmfa-ﬂdm

Following is data from 2 child-care center find the mode of data
08 3835 alog) mrogsy

Age Group 0-2 2_-4 4-6 8-10

Number of children 5 4 7 3 s ] 2
(1) 2 (2) 7 3T 2:67 4) 35

”

If log, 256 + log, 81 - log, x =0, then x=
Iug‘256+lng, 8l-log,x=0,mc03x=
(1) 1 (2) 0 (3) 64 (4) 512
The HCF and LCM of 48, 72 and 60 are e -
48, 72, 60 ® A.3v.(5 DBctw €310 en 3™
(1) 24, 144 (2) 12, 720 (3) 720, 12 (4) 12, 144

* A composite number can be written as a product of prime numbers in

8 Soaing Sog (T SEErosTe ERO I Mdwenm orabiem,

(1) a unique way (2) at least two ways

ei g nsom maﬂﬂinﬂ'ﬂ)ﬂ‘ ‘-;;.-H' -} --F;
[3) any number of ways (4) None -"}.Ill =0

23, dgrenr 08 seiH o

1 1 .
2" =(0.2) =100, then implies =7 .
Yo
2 =(0-2) =100 wow3 L~ =
L 1

mar - @ 3 @ 3 ) log,,2

L. N
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37. If -75=9a+ b where 0< b <9, a, bare unique integers, then b =
=75 =9a+h, 0< b<9, a, b mh‘?:giﬁ'ﬁg'mamah =

(1) 3 (2) 4 (3] 5 (4) 6

38. (A-B)U(B-A)= il

_,W(AUE 2) AnB 3 &

39. If Ais the set formed by the letters of the word ‘POSSESSIVENESS’ then n(A) =

(4) (AuB)-AnB

POSSESSIVENESS' o eolf 565060 egines 16,33 5208 Awavs n (4) =

(1) 7 (2) 6 (3) 8 4 5

40. n(A)=8,n(B)=9,n(AnB)=6 where A and Bare two sets, then n(A U B) =
n(A)=8,n(B)=9, n(An B)=6 eans n(Au B) =
(1 17 (2) 12 (3) 11 (4) 7

41. How many subsets the set P = {a, e, i, 0, u} will have? :
P ={a, e, i, 0, u} &HHDB % Inogiin &3 SDe Jog 0 S w?
(1) 4 (2) 16 (3) 8 ,[5}_,-32

42,

If -1, -2 are two zeros of a polynomial 2x® +ax® + bx -2, then (a, b) =

2x" + ax® + bx - 2 wI0I6 Mg Bob Wragen -1, -2 e mand (g, b) =

(1) (1,2) 2 (5, 1) @ 3,2 4 (2,-1)

43, Thl:runtanf?_._t_—%:ﬂ are

2
2::--;=3 sy Sororen

o o
m L-3 @ 2.1 A2 -3 (4) None
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44.

V3x4 2y = 22; \Ex~w‘§y=3.f3_

implies x =, y=

ﬁxh.r"ﬁy:ﬁv":’: ﬁx-ﬁy=3¢'§

SDEGETe Psses x = y=

(1) 1,2 (2) V6, -1 3 21

54 ggswen Ko ey BIVEHES'D thetne Sowy |

(1) 27 (2) 108 (3) 54 (4) 12

A ball is thrown from the top of a building of height 25 m with an initial velocity of 15 m/sec.

If the height of the ball 4 from ground at any point of time t is given by 4 = 25 . 10t -3¢°. The
time taken by the ball to reach the ground is

25 Dbt I ffe 5350 08 008 15 0 /255 31508 oS D8, wod

Mbs-mmﬂcﬁma@g%
Nowogddn h = 25+10¢ - 312 ™ RS dsa, MHEMMTMQ%H:J&:::,
(1) 15 sec (2) 10 sec (3) 5 sec (4) 5/3 sec
. Ifthe solutions of ax+by =2 and bx+y =35 are 4, 6 then q =
aH + lfH =2
Qe+ by =2 2Balw bx+ Yy =5 ogIw 4, 6 vavda = bi & 06 = %
-3 —ET
= ‘? =3 =7
(1) -:ll 2 3 @ (475
. Which of the following is a quadratic equation?
308 6" 38 3eB0I0 SR8
) 2 —dx? - xs1=(x-2) (2) x'-2x=(-x)3-x)
B (x-2)x+1)=(x-1)x+3) (4) None

SPACE FOR ROUGH WORK / 980 Saranodnds 3831,



49. flx)=5x"-9x’ ~3x +11x-18 18 divided by (x - 2) then the remainder 1s
flx)=5x"-9x" - 3 +11v-18 D (v -2} & eefioar 3 i

1y © 2 -7 (3 7 (4 1

50. If the difference of reciprocals of ages of a boy three years ago and five years [rom now 1S

then the present age of the boy in years is

L8 erend ot Saby 3 RoSore §80 DA AHB WD S REIHITE acomed Sabibe dlug, 06" dre Jdy #55
% son 38 orend Iabidy

(1) 8 (2) 6 (3 4 (4 9

51. Sum of the squares of two consecutive even positive integers is 340. The numbers are
Bods S0 HBEA Dogyo :!iq;uh:&:ma-m sand & Jogy e
(1) 10,12 2) 12,16 (3) 14,16 ﬁ; 12, 14
52. The pair of equations 2x+3y=>5 and 6x+ky = 12 has no solution if k =

2x+3y=5 m&ﬁuﬁx+ky=liwmﬂbﬂ:duk-

(1) 3 (2) B .:':-" ":_.l; I.3{ 9 (4 12 .
Th W ow= R ]
53. The roots of a quadratic equation are irrational. Then 0 . -
14 “ao
8 353 Drec0 Sareren Sdkab Sowge sod Vg 1lyqp et - a
(1} discriminant > 0 (2) discriminant <0 .7 ,.. a7 . » g,
<
InSv _ (3) discriminant is a perfect square (4) discriminant is not a perfect square
5 % 5#
i Lo S enggora
-»&.q'\\ y)ﬁ/ SPACE FOR ROUGH WORK /380 faranodeds gdas
- \ 220N ¥
"L.trr" C:U ", e A 3 AT ") L
'L% N e =13 \ L_'{-i'"ﬂl = M
a1b ¥ y £ WAt eyrely - Ly Ly

R o 7 .



54.

55.

57.

In the series 112, 109, 106, 103, ...., which term is the first negative term?
112, 109, 106, 103 ...... Mbammaﬂmwﬁgmmmﬂa

(1) 40th (2] 3Bth (3) 36th (4) 32nd

In an AP the 5th term is 24 and 12th term is 94, then the sum of first 20 terms is
mof 346 53 385w 24 HBain 123 3640 94 sand & eof 186 2w 20 Sove Andin
(1) 174 (2) 200 (3) 1350 (4) 1580

If the first term of a GP is 486 and the common ratio is (1/3), the tenth term is
fors 8 2ociel 3650 486 SBain drdy D8 1/3 saws 10 336850 “

(1) 2/243 (2) 1/243 [3) 2/83 4 1/729 s,

T -5
If the points A (5, 3), B(8, 5), C|x, y) and D(7, 2) are consecutive vertices of a parallelogram
then (x, y) =

i
’Eﬂ'

A(5, 3), B(8, 5), C(x, y) $8atn D(7, 2) e 8 3irods Ssadnm 363 Soyen mand (x, y) =
(1) (4,0) 2] 44 (3) (10,4) (4) (4, 3) 3

AT AL~ AU " L
58. The points Ala, 2), B(3, 1), Ci-1, 3) do not form a triangle if a = ;‘ A =
T I
a dwg b des3H Afa, 2), B(3, 1), C-1, 3) e» Bbe dness Dyssy e
(1) 2 (2) 3 (3) -2 (4) 1 A+ =10
L& = ;!
59. The midpoint of line segment joining (x, —y) and (-7, 5) is (4, 6). Then x=, y= , _ =¥
WD
(x, - y) SBabo (-7, 5) DodPHod Sen By podin Bdy DobP (4, 6) vandx =, y = - _‘!—:;;r;
(1) (-3/2,11/2) A2r 05,-7) (3 (11, 1) @ (En = e
T, h 'II..‘I"TI. L3 l.|‘5
60. The area of the triangle formed by (-1, 2], (2, 1) and (0, 0} is 2TE .
(=1, 2), (2, - 1) HBamd (0, 0) 08" 26 Bgbs Svyoyin e
1) o (2) 3 3 1 (4) ay2 F
e —

POLYCET-2019/2-C 11
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SECTION—II : PHYSICS

61. The refractive index of glass with respect to air is 2. The critical angle at their interface is
™D Sdom mee 3853 rhago 2. and 308) §'mo

(1) 30° (2) 45° (3) 60° (4) 90°
62. Which among the following materials has higher refractive index?
Boss &3 86" 28,3 58435 g0 SHASA.
[/H' Diamond (2) Kerosene (3) Canada balsam (4) Air
aol E5'A5 B3 Ereyo )
63. On which of the following factors does the focal length of lens depend?
o8 rds SWE T Ergodto BAD eprdidhdod
(1) Size of the object (2) Power of the light source
33y 384rmo 5%08 eds g 0
(3) Wavelength of the light (4) Surrounding medium
508 adordg ;o S8R cirdso
64. A convex lens forms a virtual image when the object is placed between focus and optic
centre. The size of the image as compared to the object is
S0P THabDotoH Bakn & EBoito iy 40DIHE Logrs s S50 Dodsy 3B DowrD, HdydHAe8. mHe
26,co (38Don SBrrin 37y I63rno8’ 2403
(1) same size (2) smaller (3) larger (4) None of these
=d 383 n0 05,8 =58 DT
65. A lens having two spherical surfaces, curved inwards, is called
Bod Fowse6 deren 630 DD Jofl &3, Sbaso
(1] concavo-convex (2) plano-convex
iptrsd-Sogrsd Adde-Dogreg
(3) biconvex (4) biconcave
Bhogrs™d Bsoersg
66.

When an object is placed at distance of 5Scm from a humgn wye: the iaees it .
i ' mage is fi :
distance of g¢ 18 formed a

L9390 Ir3HA Sod ol 5 Do, &rdos’ 403D, D6E BBDos Krdan

(1) 2-25cm (2) 2'5em
2.25 ot 2.5 Bo.M,
3) 1lem

4 Cannot form a clear vision

I B38Dowo ey ek,
SPACE FOR ROUOH WORK /3636 Strauoguay E-
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67.

Pick the correct anawer (rom the following two statements :
de (Rol) e ne Mod AOED dArprso Jodd At 'ed
(@) Myopin is also called near sightednens,
PR By "0 Herre e B0 S ey ysome Srdred
(b} Hypermetropin is also ealled for siphtedness,

{!Iﬁ-n'h:}ﬂ' S e Al SHdhod yslons drded)

(1) Only (n) is true () Only (b) is true
1) Areeds Detn (13) a8 Do

(3) Both (o) and (b) are true (1) Hoth (a) and (b) are [alse
() 8(b) Bodr Dere (1) () Bodkr iy, 8

I i, and i, are the angle of incidence and anple of emerpgence respectively, then at the angle
of mmimum deviation

iy DB {; SV 3BT R0 LB BirgH §'no wand £D1056:3 16 34

1) i =i (2) 4 =24, (3) 2, =i (4) i =i

69. The sun does not appear red during noen hours. Because

-‘-"'l-—_

: P.T.O.

Dogrgn $06° A JE SIndd. JodIn

(1) all colours reach our eye without much scattering
uﬁroﬂﬂoﬁ:m:ﬂ!ﬁm%wﬁdﬂhmm

(2) all colours get scattered on reaching the eye
©d, ob dolben 30300 o8 foddd doran

(3) red colour only gets scattered
st sob 3@ 30300 ool

(4) red colour only does not scatter
Ids oo 0B 3red 30E360 Dodd

The sum of two resistors is 6 ) and their equivalent resistance when connected i parallel

is 1.5 €1, The product of the two resistances is
L 6 Q) mmpu‘q-umgmmmmwmwm ME08%0 | 5 () sand

8 Bods A6'gre ogdv
1) 40 2 920 (3 750 () 4 50
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r.'l |-.I
20
6 ard) B
.2 H.J"'F..'l}ﬂil T

T1.

(1) 30 (2 avy (3) 2 A (4) 2 W

72. The relation between the potential difference and current is established by the scientist

rOQand B 5001 Deny b vl Sagy rie Sowore, H6rLo s A0

(1) Ampere (2) Oersted (3) Kirchhaoff (4) Ohm

eonahl eacal T&-ﬁ EG"J'\} £l

73. Pick the correct answer from the following two staternents :
6 208 Body 3, Sve Hr0d H0ADS Sdrgrdo Job 3Ttod

(e

Kirchhofl's junction law is based on conservation of charge.
B0y molid Dabibo edare D B0 w000
(b)

Kirchhoff's loop law is based on conservation of energy.
fomyv erD Danhibo 3§ D0 oH38500

(1) Only (a) is true
(a) s Dedin

(2) Only (b) is true
(b) 5% Dot

(3) Both (a) and (b) are true

(4) Both (a) and (b) are false
(a) & (b) Bodr Jerd

(a) & (b) Bodir 83,8

74. The registance of a wire of length 1 m and cross-sectional areg 1 mm?

is 1 1. The specific
resislance in

1 2, dndip 08at 15,5" 30695 8y6 Deg0 6OA3 g B D8'go | L5, 02 8 29396 g

(1) 10-m (2) 10*Q-m (3 107 Q-m (4) 0-101-m

76. A char f 6C in flowing through a point in a circujy | .
drm““ﬁ” , E or 2 minutes, The current in the

6 C deyorido e soabod’ i Docd 08 20T Bodds 2 Dutved atrdigyon.

&1 Soaliod’
(1) 3A 2) BA 3) 0:08A o B30l Deby b
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76.

Which of the following pair of devices measure the same physical quantity?

BoB 36" e8 F'O50 A0 B 0S50 ASAr RS mob Aesaven

(1) Ammeter, voltmeter (2) Ammeter, galvanometer
uﬁ;‘ud:-. 5‘15 tacs oy o), o b
(3] Galvanometer, voltmeter (4) Ammeter, battery
Mg ko, 6 Mobscs ohyts, b
Generally, right-hand rule is used when the velocity and magnetic field are
ArgrinerT, HA 38 abrd, x5 HBaw wabmod §8in esordSEd D 846" s D T,
(1) independent of each other (2) at45° to each other
2500 20575 MErEsaNSy 36360 45° §'mo aRH,@
(3) parallel to each other (4) perpendicular to each other
LSErRE SS Sirodton ey 36700 wowor™ &I,
Lenz law gives
Sod Dabavo BII BDaHLENS
(1) magnitude of induced EMF (2) direction of the induced current
(8 Dby STmyes oo dlug 38Lrey (968 Dty B3
(3) strength of the magnetic field (4) magnetic force acting on moving charge
Wﬂ“ werd, Sehendnd) 8ddod 303ain sabdnes pendy
A force exerted on a 3 m long conductor having a current of 2 A in 04 T magnetic inducton

with an angle of 30° is
3 %, v e LETiPE0 005" B30 288 2 00dab8. B3V 0.4 O (M flo eabdned §3 836 307 3z
dodFPeh 3dakn pod

(1} 12N (2) 12N (3) 72N (4) 24N
80. Which among the following does not involve the principle of electromagnetic mduction?
208 36" Doy SabRmPd (S8aD uEro3cas
1 {2) Electric generator
1 ctric molor
{1) Electric i
(3) Electric geyser (4) Induction stove
Elecltric
woags
ey § AnE 25
———

gPACE FOR ROUGH WORK / Sa0 fauranodeds pdaw

= - PP



81. A temperature of =273 °C in Kelvin scale is

8050 Ard0d* -2730C wIens

(1) -273K (2) 273K 3 0K (4) 273K

82. Which among the following statements on temperature is false?

A0 Dowofod o Bod ardls* DT Ep i 83, 7

(1} 1t determines the direction of heat flow
=0 ag.m;r-:p- 8440 ﬂn;ﬂ:goa

[2) It is a measure of thermal equilibrium

20433087902 3DaH S0

(3) It is a measure of hotness or coldness
28 dyddo do Sotiso Apand ADah 3o

‘{;-]” Heat flows from a body at low temperature to a body at high temperature
6o DI sey AASS Mo S mnawgqmﬁu:@@hgﬁb@aa

83. Condensation is a change of phase from

Arolfgtnod” et HB Ard,

(1) liquid to solid (2) liquid to gas
(B30 ol do 1530 ol Tratng
(3) solid to liquid (4) gas to liguid
Do ol B30 Talng od iddo
“I-

I T, and T, are the temperatures of the hotter and colder water samples respectively and Tis
the final temperature of their mixture, then

T, 3Baio T, 3ham 34 26ako Jed M satyider Hbaty T'es Doy 08 adpitad mand

(M) T>Ta7, @) T>7,>7

B K>T>7, 4 T>T>r
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. A clock shows : :
85 clock shows 3 hr 5 min. When S¢en through a plane mirror, the time appears to be
eEn8alrto 3 Hon 5 oy ﬁrbm_..;sdﬂ. oA LS Abhde &6yt0 O a:-h:.&;b;d.: oD Shlon 38irne
(1) 8 hr 55 min (2) 3 hr 5 min

3] 9 i .
8 fon 55 2y (3) 9 hr 35 min (4) 6 hr 10 min

3 fon 5 A 9 fon 35 2 G fonld ou

86. The magnification

of an object of height 1 m usi : B b e e )
image is B ing a spherical mirror is 1-5. The size of the

1.5 &38%50 SOAS e.E Sigse SEd) Tado argtr 1 1. D) £DAS 3HI ArdIHd 5 Béfon 2eirno.
(1} 067 m (2) 1m {3) 1'5m (4) 25m

87. The type of mirrors used by Archimedes in burning ships is of

Elwds Eﬁ.}uﬁh&hﬁi Hﬁzp}ﬂfa a5 du:&'n-m

(1) convex (2) concave (3] plane (4) None of these

Do Ders Sibde AN TD
88, Which among the following is not a physical quantity? ) = %S

ol 3" FB5TI S RA DA 7

(1) Object distance (2) Image distance J = 135
S7g B0 38Dow Srdin

(3] Radius of curvature (4) Centre of curvature
iﬁtﬁﬂ"-"'ﬁ‘g-"’-' ELSH‘EG@:'!JJ

89, When we sit at a camp fire, objects beyond the fire are seen swaying. The principle involved
in it is
Do $DBobe BHE LrERHEHE esibiobr 30 &) SLHe Soe0EHANT sIDan. BT EHLI ArEIy

(1) fraction (2) reflection
refrac

Sgsssn Soragato
(3) total internal reflection (4) scattering
:Snm'cgoéﬁﬂ SoeSgsh 3633mo
f the glass slab and 'b'is the vertical shift of an object through it. then
0. 11w thickness © :
“T:ﬂgis::ind:x of the glass slab 18 h N .
Mrﬂﬂnﬂ'ﬂwmm%w omeady
St a _—
LEmer 82 3 " ) - -
2) g-b (3) = >
(1) =
a+b
e ""';';E;ﬂn ~OUGH WORK / 980 furono3eds 384
a
a-b
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SECTION—III : CHEMISTRY

91. According to Linus Pauling, the clectronegativity values are based on

D35 2Dof 350 QOIS e Dot i Jevdens  egrson A8 03D,

(1] ionization energy (2) electron affinity

=chAEidn i -'Jﬂﬁ::s o3

(3] Both (1) and (2) (4) bond energy

(1) SoBaiv (2) wog 43
92. The orbital with highest penetration power is
D esByendt Sanaedl g 10 3 doknos 2
(1) s 2) p (3] d (4) r
93. Mendeleefls Periodic table is based on
Dosbludgssdd  wordom sair Jabodod,
(1) atomic weight (2) atomic size
S 83,08 S 385ree
(3] atomic number (4) atomic volume
So3ren Sogy Hdra 1338400
94. Total number of elements in Newland's periodic table s
Aryorsol ©393 3856 dod duruse Souy
(1) &4 (2) 48 A3] 56 (4) 65

95. Element ‘A’ forms tnpositve ion and elemen; ‘g

\ formg dinegauve ion. The chemien]
formula of the compound formed with A and # v

| be
A B Jarogo B ams ﬁwﬁﬂmaﬂm%ﬂndnmmﬂ W™ A D8t B g deyas
Ay 630 g, ddmatsd dnolBeo
e, u.l AB _,ﬂ‘] AJH‘ K] l‘ll._nﬁ'. {_” AH
e s St ==
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96. ‘Sigma bond’is formed by
ATy D00 DG S0

(1) end-end overlap (2) head-on overlap

00 elidyg de ebdrdo

(3] Both (1) and (2) (4) lateral overlap

(1) So8ain (2) 24 s #8yrd whdo

97. The shape of molecule with 4 bond pairs and zero lone pair is

3 2of Jogs moben Haly o) £okB JoES Hobiey SHAS v dlos) a5, 8

(1} tetrahedron {2) linear (3) pyramidal (4) trigonal planar
Sy Dabo 8Dabo S5mE 95* Aot Sbdes
98. The bond angle in H,0 molecule is
H.,O em3pé* wos S0
(1) 180° (2) 120° (3 107* 48’ AT 104* 31
99. Match the following :
=d S8sod.
fa) Haematite r286 A Hgs
Fe,0,
fb) Cinnabar ;.‘;hu'ﬁ _ ol Be
fi) Fe, O
fe) Hornsilver 28 deB < TR
fiv) AgCl
(d) Magnetite 3rHOS
” (21 a=m, b-i, c=v, d-u
(1) a-iii, b-iv, c-i, d-1i
{4) a=ii, b, o, d-i
(3) a-ii, b-iv, c-i, d
e ———— SF‘ﬂCE FOR ROUGH WORK / mmm
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100. Which of the following metals is least reactive?
o8;0 3o $08 o S

(1) Mg (2) Au (3) K (4) Fe

101. Heating of carbonate ore in absence of air is called
™D 8005 $5) e 34 Sawed 2D Sewdht 7

(1) calcination (2) roasting (3) smelting f4) refining
oh oo 65 oo DYsso

102. Electronic configuration of C in its exited state is

aaagoes‘ccnmbagﬁsm-am
(1) 15’2s?2plapiap? (2) 1s'2s2pl2pl2p?
(3) 1s*2s?2pi2p!2p° —~t4] 1s*2s'2p! 2p} 2p!

103. The first synthesized organic compound in laboratory is
mmﬂwmmmmsﬁa:a%m

(1) methane (2) wurea (3) acetic acid (4] ammonia
A% ciar8air aﬁﬂgﬂ-‘&ga oy datr
Cl C

. |
104. The IUPAC name of CH;—CH—CH—CH,

cl1 cl
CHy— CH— CH—CH, @w%[UPAC %o
}Lr’ 2-chlero but-3-chloride (2] but-2,3.dichloride
2-5'* uryS-3-5'28 uriﬁ-z-a-gs:g.s
(3) 2, 3-dichlorobutane (4) 3-chloro but-2-chloride
2.3-2576" ary 05

ﬂiu'l:ﬁ'uri‘[ _:_},!:EE
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105. ¢ : : .
For extraction of highly reactive metal compounds from their ores, some impurities are
added during the electrolysis process. The role of impurity is

©88 Sovs f0d o &' Sy dare grabP ol 59, Soyroddsy,d 88d 36 Mk milabé’ £ BiTeD
SeUhEr M. Jotufod Hdarey

(1] to give color to the ore {2) to increase the melting point of ore
P8 Sorhbd adran oD dwgEdESS el Dodieran

(3] to increase weight of ore {4) to decrease the melting point of ore
TP dlos) BhHD Doweraw o g BDEIS 2y, SAan.

106. The organic compound with R—COO— R’ functional group is prepared from
R—CO0—pR' &3&ahy S8arro SDAS 56y Sdyuio 34 e WL AR
(1) RCOOH and R'OH (2) R'COOH and ROH
(3] RCHO and R'OH (4) R'CHO and ROH

107. The value of x in the following chemical reaction is
D3 asgnds G 366" x Dewd Jod 7

C,H, + x0, ——yCO, +zH,0
(1 4 (2 3 (3 6 (4) 5

108. Lead nitrate on reaction with potassium iodide gives yellow precipitate. The yellow color is

due to
uwwmmﬁ#%mmmmm. A2 s~smo
Pb(NO,), + 2KI——PDL, + KNO,

(1) Pb(NO,), (2) K (3) Pbl, (4) KNO,

109. One mole of H, gas contains how many molecules?

n!:ré]-[,rm-lnauﬂﬂﬂﬁup‘
(1) 6-023x107
(3) 6:023x10™

(2) 2x6:023x107
(4) 6:023x10%

SPACE FOR ROUGH WORK / S8 furavodnds @ty
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. ; ue to formation of
110. The tarnishing of silver spoon in presence of moisture 15 d

dob Jod dé' G0, ovID 1:5_]4; 3o ol sdno

AgCl
(1) AgO, (2) Ag,S (3) AgNO, (4) Ag

. . 1 2
111. Which of the following is an example for neutralization reaction:

208 i dLYs8n 368 dovrde

(1) Base+Salt——s Acid + Water

F0o + 0300 —; wdio + A

(2)  Acid + Salt —— Base + Water

ua":‘rn-l- uam-—_;i-du+hm

(3) Acid + Base— ; Salt + Water
©Do + Plo — vlno + b

(4) Base+ Water —— Acid + Salt
oo+ DD —; edo+ edmo

112. The colour of methyl orange indicator in HCJ

is
HCI &' 236 ssos 368,05 dord
(1) pink (2) colourless (3) yellow (4) blue
113. The chemical name of plaster of Paris is
:E;GEE u mmbw o
(1) calcium sulphate monohydrate @) calcium gy,
. Sulphate
s Qabo 38y ArF InddS Palig 38y
(3) calcium sulphate dihydrate ) caleiym,
ai Sulphate llcmih}'drme
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seda NaCl o o&n 8 dim wimm o

i} R, at cathode (2) O, at anode
. i
SIS H. ;e e3'E58 0, Traind
3] Q. at cathode (4) Cl, at cathode
E
E*E'.-zgﬂ: Taing 5“5‘5‘%“: oraiug

11S5. Which of the following is an example of acid?

2ot i wirdl s

(1) Dy HCI (2) Aqueous HCI
23 HCl #e |orde HCI

(3] NaOH (4) NH,OH

116. The Quantum mecHanical model of atom was proposed by

S s'saun drcibs r:ﬂm.':i:.:r-a'ﬂ SE2r8odd T m
(1) Rutherford (2) Bohr (3) Schrodinger {4) Max Planck
arsB 35 ' Ll el s

117. The correct order of energies for the electromagnetic spectrum is

e

(1) UV rays > IR rays > Radio waves > X-rays
o8o0d'irs More > Sooda o > 88dr ddoren > X-Marew

{2) Radio waves > UV rays > X-rays > IR rays
A 8bomen > sbded'ré Voo » X-Uorw > Sodo 2orw

(3) X-rays>UVrays> IR rays > Radio waves
X-Uren > 0bS08'rs Mara > 3070 Mare > 88ar ddome

Iﬂmﬂ,x.my.:mdiummbwms

4
t o Boren > X-Mieres > 8Adir sdome > 080l s Ioarw
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118. Which of the following set of quantum numbers is not correc
Bods adgwds 5500 Sogke Stardted” D 508

. ]

lll n=2_f:|,mr=—l.rm_‘:+% E'EI n:E..'-—.U.m,:+I.m~_+2

| _ 1

[3] n=2.£=1.m,=-l.m,='§ {4} n=2r!=ulmf=ﬂ'm'_ E
119. The possible [ values for a given n value are

Adewd3 n L SRS [ Denen

(1) Oto(n-1 (2) Oton (3) 1ton (4 1to(n-1)
120.

The rule which describes the electron distribution in degenerate orbitals of an atom is
SELrePS'D 3098 0B ere 0 JoisS oL BOD Hreo

(1) Aufbau principle. (2) Pauli exclusion principle

o5& dabibo 20 355 dabvo
(3) Hund's rule (4] Planck’s theory

w fa-1
Sroliadiiio roEiemoso b "r“_’.'f”}‘-‘l)* AR





